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Reqguired:
fa) The current weighted average cost of capital
{h) The company has plans (o raise a further Rs.S crores by way of long term loan at 6%

interest.  When this takes place the market value of the share s expected to fall to Rs.50 per
share. What will be the new welighted average cost of capital of the company”?

What is an optimum capilal structure? Discuss the important approaches to different theories of
capital structure.

OR
A company is required to produce 10009 units of caleulators for which the company is contemplating
to purchase either of the [ollowing two machines.

Particulars Machine A Machine B
Cost of the mmachine 100,000 .50,000
Lifle of the machine 5 years 5 veats
Salvage value at the end of 5™ year 10,000 20,000
Methed of depreciation Straight-line  Straight-line
method method

The product so manufactured can be sold for Rs.15/- per unit. However, the cost of production of the
product in case of machine A would be Rs. 10/ where as in case of B, it will be Rs.8/-.

The company is in 50% tax bracket. Advise, which machine shall be purchased 1f the firm’s cost of
capital is 12%,

What shall he the effect of the lullowing changes on the level of the firm’s receivables:

{a} [nierest rate mereases
(b) Recession
(c) Production and selling costs increase
) The firm changes its credit terms from *2/10. net 307 to 3710, net 307,

OR
A company is being offercd two schemes of discount offers. From the undermentioned data, tind the
LOQ and the cost associated with EOQ.  Also find whether the financial manager shall avail the
discount offers against the OQ? If ves, then which of the ofter is more benefictal?
Cost per unit 25

Anmual requirement 10000

Carrying cost 10% of the cost per unit

Ordering cost 20 per order

Discount 4% an the order of 2,500 o 4,999
Discount 5% on the order of 5,000 units
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